250 EXC-F SIX DAYS 2010 <2010><EU><8103J2>

ACCESSORY PACK
6931
©)
OHNE ABBILDUNG ‘ 1 7
WITHOUT ILLUSTRATION 7
. i B
| @
@ o |
TECHNISCHE DOKUMENTATION .E"‘?f @ -
TECHNICAL DOCUMENTATION P
DOCUMENTACION TECNICA = S
DOCUMENTATION TECHNIQUE - (i
NOTE TECNICHE - @ -
({.yﬁt'i @ {;ﬁ;
o — “~
2
Pos Part Number Description Additional Text Quantity
0 0019080266S COUNTER-SUNK SCREW ISA45 M8X26 ONLY FOR 78003023081 | 6.00
0 40006006000 WASHER 6MM 2.00
0 0125050003 WASHER DIN0125-A 5,3 2.00
0 0985050003 Self locking nut DIN 985 M5 2.00
0 77303094100 PLASTIC FRAME PROTECTION SET 1.00
0 0019080206S FLAT HEAD SCREW M. ISA45 M8X20 1.00
0 77003190000 SKID PLATE PLASTIC 1.00
0 50310900116 CHAIN X-RING 116 R 1.00
0 5841005105204 REAR SPROCKET ORANGE 52-T 1.00
0 78010165116 CHAIN DID 116 ROLLS 1.00
0 58412080000 REFLECTOR RED EU+AUS 1.00
0 58412080050 BRACKET FOR REFLECTOR 1.00
0 0966050203 OVAL HEAD SCREW DIN0966-M 5X20 2.00
0 58412040000 MIRROR L/S 98 FE 1.00
0 77202002000 BAR PAD CPL. 1.00
0 50033029013 FRONT SPROCKET 13-T 1.00
0 312313 KTM BALLPOINT PEN ORANGE 1.00
0 3210039 CUSTOMER WELCOME LETTER 1.00
0 312305 DOCUMENTS BAG 2006 1.00
0 77306016000 FILTER CARRIER 4S SX 07 1.00
0 5030314013390 FOOTPEG L.+R. CPL. 03 1.00
0 54809081060 FRONT AXLE PULL 26MM 04 1.00
0 52000091 STICKER FRONT FORK-SET WP 48 1.00
0 50313082200 BRAKE PAD RETAINING PIN 1.00
0 7700207900004 HAND GUARDS CPL.L/S+R/S OR. 06 1.00
0 SXS08125610 BLEEDER VALVE SET 1.00
0 58412041000 MIRROR R/S 98 FE 1.00
0 58412040050 SUPPORT FOR MIRROR LC4 '98 SUPERMOTO PRESTIGE | 2.00




0 58012040150 Clamp for mirror 2.00
0 77306016000 FILTER CARRIER 4S SX 07 1.00
0 58511053000 BATTERY 12V 4AH YTX5L-BS 1.00
1 3CF8103J2EN SPM CHASSIS 250 EXC-F SD 10 1.00
1 3CM089311JEN SPC ENGINE 250 EXC-F 2010 1.00
1 3211465EN OWNERS MAN.250SX-F 2010 1.00
29 77029099100 TOOL KIT 07 1.00
30 53012028200 GRIP ORANGE B&F 1.00
31 50329080100 WRENCH SW=17/21/27/32 B&F 1.00
32 50329071100 WRENCH WS=13 B&F + OPENER 1.00
33 60029070200 T-WRENCH WS=6/8/10 TX=45 B&F 1.00
34 77029072000 SPARK PLUG KEY 250 SX-F 1.00




